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4250+ 0.0
-35.42+ 0.00
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1
100

TP delay [ns]

TVC(c,b ch) (1, 5

F- pO

-1 nu 344e+04 [ 25
4279+ 0.0
-36.02 + 0.00

TP delay [ns]

TVC(c,b ch) (1 59

o= pO

T nu.432e+U5 / 25
4305+ 0.0
-36+ 0.0

1
100

TP delay [ns]

TVC(c,b Ch) (1, 5 13

pO
p1

TinuiLy3ie+u5/ 25
4298+ 0.0
-35.7+ 0.0

il
100

TP delay [ns]
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1000

TVC(cbch) (1,52)

-35.65 + 0.00

T z.sse+ud /25
__— pO 4255+ 0.0
L pl -35.65+ 0.

TP delay [ns]

TVC(cbch) (1,556

- b

pl

T rnuzba/e+u4 [ 25
4297+ 0.0
-36.66 + 0.00

TP delay [ns]

TVC(eb.oh)=(1, 5, 10

1000

-l 1.44e+U6 /25
E- pO 4315+ 0.0
[ p1 -36.66 + 0.

-36.66 + 0.00

TP delay [ns]

TVC(cbch) (1,5,14

-~ o
pl

T L 3roe+Us / 25
4296+ 0.0
-35.45+ 0.00

TP delay [ns]
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3

nuiz pave+ud | 25
4263+ 0.0
-35.05+ 0.00

TVC(c,b ch) (1 57

-

- pO
pl

1
100

TP delay [ns]

nun brze+u4 / 25
4296+ 0.0
-35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

- pO

Sy sie+u6/25
4323+ 0.0
-36.63 + 0.00

TP delay [ns]

TVC(c,b ch) (1,5,

X1

- po
p1

15

nuiz 4z9e+U5 / 25
4305+ 0.0
-35.5+ 0.0

TP delay [ns]
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TVC(cbch) (1,6,0)

A~ 1 nun B4se+u4 | 25
4249% 0.0
-37.05+ 0.00

TP delay [ns]

TVC(cbch) (16,4

-1 nuz,045e+04 / 25
4276+ 0.0
-36.71+ 0.00

pO
pl
TP delay [ns]
TVC(cbch) (1 6,8) —
T U b43e+U4 5
= pO 4274:‘
-34.78 + 0.00
rC=28.75[ps/ch]\_ 1
- o
TP delay [ns]
TVC(c,b ch) (1, 6 12

T rnug.zz1e+05 / 25
po 4283+ 0.0
pl -37.15+ 0.00
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (1,6,1)
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X~ 1 iz, ioae+Ud | 25
4253+ 0.0
-36.59+ 0.00
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TP delay [ns]

TVC(c,b ch) (1, 6

S nun z.30e+04 [ 25
4273+ 0.0
-36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

T inuigzz1e+U5 / 25
pO 4290+ 0.0
p1 -35.12+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 6 13

TinuiLo//e+u5/ 25
pO 4280+ 0.0
p1 -36.32+ 0.00

PR R SR |
50 100
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- pO 4262+ 0.0
L pl -37.4+ 0.0
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TVC(cbch) (16,6

=/ nug,

= P°
pl

[ube+u4 | 25
4275+ 0.0
-35.63 + 0.00

TP delay [ns]

TVC(eb.oh)=(1, 6, 10

T L zz3e+U6 / 25
po 4297+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (1,614

T, 3ze+05 / 25
pD 4273+ 0.0
pl -35.96 + 0.00
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TVC(c,b ch) (1, 6

S 111e+u6/25
k. pO 4288+ 0.0
p1 -34.47 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 6 15

T inuizgo1e+u5/ 25
po 4264+ 0.0
p1 -36.04 + 0.00

TP delay [ns]
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TP delay [ns]

TVC(cbch) (17,4

- 1wz lyse+ud [ 25
== po 4253+ 0.0
pl -36.74 + 0.00

50 10'0
TP delay [ns]

TVCebeh)=(1,7,8

1 nuip.4uve+u4 / 25
= po 4273+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (1,7,12

T g zzse+U5 / 25
4274+ 0.0
-35.3+ 0.0
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pL -36.29 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

-1 nu 1bse+ud / 25
pO 4251+ 0.0
p1 -36.49 + 0.00

TP delay [ns]

TVCEebeh)=(1,7,9

T nun 3.80e+U5 /25
po 4269+ 0.0
p1 -35.61+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (1, 7 13

T nuiLoE3e+us / 25
pO 4281+ 0.0
pl -36.26 + 0.00

TP delay [ns]
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TVC(cbch) (1,7,2)

X~ 1z z3/e+04 [ 25
-, po 4250+ 0.0
L pl -35.53+ 0.00

3000

TP delay [ns]

TVC(cbch) (17,6

T rnu 1zze+06 / 25
pO 4285+ 0.0
p1 -36.66 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 7, 10

T il 1p1e+U6 / 25
po 4271+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (1,7,14

-1 nuiLpoae+Us / 25
pD 4274+ 0.0
-35.33+ 0.00
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e po 4269+ 0.0
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= 1 Qose+us / 25
= po 4275+ 0.0
p1 -37.16 + 0.00
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TP delay [ns]

TVC(c,b ch) (L7,

1)
71 nuiL4u4ae+U6 / 25
pO 4281+ 0.0
-36.29 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7 15

71 nuiz.yzye+u5 / 25
4280+ 0.0
-35.51+ 0.00

TP delay [ns]
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TVC(cbch) (1,8,0)

Tz 1se+ud [ 25
- pO 4229+ 0.0
p1 -35.96 + 0.00

TP delay [ns]

TVC(cbch) (18,4

- rnuiz1z9e+04 [ 25
== po 4271+ 0.0
pl -37.75+ 0.00

TP delay [ns]

TVC(cbch) (1 8,8

-1 s bave+ud | 25
- pD 4261% 0.0
p1 -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8 12

T z1e+u5/25
po 4289+ 0.0
pl -36.36 + 0.00

L n n n n 1
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AT 1 nuzuzze+u4 | 25
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TP delay [ns]

TVC(c,b ch) (1, 8

©1nu343e+04 / 25
pO 4262+ 0.0
pL -37.27+ 0.00
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TVC(c,b ch) (1 8,9

~ 1 nuw.z3ae+U5 [ 25
po 4276+ 0.0
p1 -35.97 + 0.00

1
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TP delay [ns]

TVC(c,b Ch) (1, 8 13

T 1 nuiz 150e+U5 / 25
pO 4270+ 0.0
-35.16 + 0.00
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p1 -36.59 + 0.00
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TVC(cbch) (1,86

T nub,042e+04 | 25
pO 4264+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(eb,oh)=(1, 8, 10

1 UL bZobe+U6 / 25
po 4283+ 0.0
p1 -35.82+ 0.00
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pD 4288+ 0.0
pl -36.88 + 0.00
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pL -36.71+ 0.00
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TVC(c,b ch) (1 8,7

- nun 1z2ze+05 / 25
- pO 4264+ 0.0
p1 -37.05+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (1, 8

T 45be+u6/25
4277+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 8 15

T inuisg/ze+U5/ 25
pO 4286+ 0.0
-35.67 + 0.00

TP delay [ns]
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TVC(cbch) (1,9,0)

T za/e+ud /25
= pO 4251+ 0.0
p1 -36.07 + 0.00

TP delay [ns]

TVC(cbch) (1,94

= 1w 929e+04 [ 25
== po 4267+ 0.0
pl -36.24 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1 9,8

- wuis Lage+ud [ 25
e po 4233+ 0.0
p1 -33.91+ 0.00
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| - o
TP delay [ns]
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© g, gope+Us / 25
po 4254+ 0.0
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TVC(cbch) (1,91

A 1L yvse+ud [ 25
- po 4261+ 0.0
p1 -35.78 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

- nu zzye+u4 [ 25
4280+ 0.0
-36.7 £ 0.0

50 150
TP delay [ns]

TVC(c,b ch) (1 9,9

-1 nui . Usae+us / 25
- pO 4258+ 0.0
-34.5+ 0.0

TP delay [ns]

TVC(c,b Ch) (1, 9 13

TinuiLy//e+u5/ 25
ovese, pO 4244+ 0.0
p1 -34.06 + 0.00

TP delay [ns]
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TVC(cbch) (1,9,2)

TP delay [ns]

TVC(cbch) (1,96

1000

K™ 1 nuigsaze+04 | 25
- po 4257+ 0.0
[ p1 -36.17 £ 0.00

3000

T a5 be+u4 | 25
- pO 4287+ 0.0
- pl -36.91+ 0.00

TP delay [ns]

TVC(eb,oh)=(1, 9, 10

1 nuiLz04e+U6 / 25
F po 4273+ 0.0
L pl -35.35+ 0.00

TP delay [ns]
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T z8se+u5/ 25
= pD 4250+ 0.0
L pl -35.2+ 0.0
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p1 -37.99+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

= rnui 141e+05 / 25
= po 4286+ 0.0
p1 -35.96 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

T 419e+u6/25
4262+ 0.0
-33.9+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 9 15

71 nuis sube+U5 / 25
po 4257+ 0.0
p1 -34.16 + 0.00

TP delay [ns]
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TVC(CbCh) (1, 10 0)

T roe+ud /25
= pO 4253 0.0
p1 -35.84 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 4

- rnuiL9lse+ud / 25
== po 4239+ 0.0
pl -34.41+ 0.00

[ C =29.06 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (1,10,8

© i zoze+U5 / 25
- pO 4284+ 0.0
p1 -37.14+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 12

T g18e+u5 /25
4270+ 0.0
-33.8+ 0.0

[ C=29.58 [ps/ich] *. 1

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

A1 i zag+ud | 25
e, po 4269 0.0
pL -35.82:+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 10 5

-1 nuz.uble+ud / 25
e pO 4240+ 0.0
pL -35.07+ 0.00

TP delay [ns]

TVC(ebeh)=( 1, 10,9

<1 nu.445e+U5 / 25
pO 4281+ 0.0
pL -35.77 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 10 13

Tinuiaz1e+U5/ 25
F 4275+ 0.0
-32.89+ 0.00

[ C =30.41 [ps/ch] ™.
L s
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X~ 1L 83/e+04 [ 25
-, po 4255+ 0.0
[ p1 -34.9+ 0.0
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TP delay [ns]

TVC(c,b ch) (1, 10 6

T 1nu,149e+04 | 25
e pO 4259+ 0.0
- pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

Srnue 1L3e+us ) 25
pO 4295 0.0
p1 -36.18+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 10 14

Tz 153e+U5 / 25
__ 4277+ 0.0
L -34.81+ 0.00
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- po 4251% 0.0
pL -34.59+ 0.00

[ C =28.91 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (1, 10 7

-1 nuy.204e+04 | 25
= po 4270+ 0.0
p1 -35.61+ 0.00

TP delay [ns]

TVC(ehch)=(1, 10, 11

T nuiLB33e+U6 / 25
= po 4320+ 0.0
p1 -37.95+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 15

-1 Uz usae+us / 25
freme. 4260+ 0.0
-33.59 + 0.00

[ C=29.77 [ps/ch] . 1

PR R SRR |
50 100

TP delay [ns]
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TVC(CbCh) (1,11,0)

X~ 1L ysze+U4 [ 25
= po 4259+ 0.0
-37.11+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (1, 11 4

- Ui Ypbe+ud / 25
== po 4262+ 0.0
pl -35.77 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1,11,8

© il b18e+U5 / 25
= po 4282+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 12

~ g z4e+U5 / 25
po 4289+ 0.0
pl -35.88+ 0.00

L n n n n 1 n
50 100
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TVC(CbCh) (1, 11 1)

T zaze+ud [ 25
= pO 4267+ 0.0
p1 -36.39 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 5

- 1nu3yle+ud / 25
- pO 4258+ 0.0
pL -36.01% 0.00

50 150
TP delay [ns]

TVC(cbch) (1,11,9

T nuiLz15e+U6 / 25
- po 4299+ 0.0
p1 -37.34+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 13

T inuzb13e+u5 /25
pO 4290+ 0.0
p1 -36.41+ 0.00

TP delay [ns]
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1000

TVC(CbCh) (1,11, 2)

K™ 1nugasze+u4 | 25
P, po 4283+ 0.0
[ p1 -37.25+ 0.00

3000

TP delay [ns]

TVC(c,b Ch) (1, 11 6

-1 nuig,uBBe+u4 / 25
- pO 4277+ 0.0
[ pl -36.06 + 0.00

TP delay [ns]

TVC(eb,eh)=(1, 11, 10

Tnun1goe+u6 /25
P 4312+ 0.0
L -36.6 + 0.0

TP delay [ns]

TVC(c,b Ch) (1,11, 14

X~ 1 iz 58pe+U5 / 25
po 4287+ 0.0
pl -37.15+ 0.00

TP delay [ns]
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A~ 1 nuizbybe+ud [ 25
e po 4284+ 0.0
pL -36.3+ 0.0

TP delay [ns]

TVC(c,b Ch) (1, 11 7

S nun1.z3e+05 /25
4283+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(Ebeh=(1, 11, 11

T inuizzz1e+U6 / 25
L pO 4314+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 15)

71 nuis.040e+U5 / 25
pO 4296+ 0.0
p1 -37.33+ 0.00

TP delay [ns]
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L.4e+ud | 25
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-34.71+ 0.00
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50 100

TP delay [ns]

TVC(c,b ch) (1, 12 4

- 1L y4pe+u4 / 25
4227+ 0.0
-35.17 + 0.00

e pO
pl
- C =
o+ o
TP delay [ns]
TVC(cbch) (1, 12 8
= pO

T nuig p3ve+u4 / 25
4252+ 0.0
-35.55+ 0.00
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TVC(c,b ch) (1, 12 12

1 nuz5y4e+05 / 25
4243+ 0.0
-34.82+ 0.00
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TVC(c,b Ch) (1, 12 5

“nu3r8e+u4 /25
4240+ 0.0
-35.47 + 0.00

TP delay [ns]

TVC(cbch) (1,12,9

pO
pl

T nug3r3e+U5 / 25
4249 0.0
-34.16 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 13

pO
p1

T nuib1Ye+U5 / 25
4243+ 0.0
-35.74+ 0.00
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AT 1z szoe+ud [ 25
- po 4256+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

-1 nui 184e+05 / 25
4271+ 0.0
-36.5+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, l

RIS zzue+u6/25
= po 4255+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (31,15

71 nuis obae+U5 / 25
= pO 4265+ 0.0
p1 -35.07 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0

AT inuLsse+ud /25
- po 4223+ 0.0
pl -35.58+ 0.00

TP delay [ns]

TVC(cbch) (3,24

-z zoze+u4 | 25
e pO 4231% 0.0
p1 -35.49+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 2,8

T 3pe+ud /25
= po 4275+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (3,212

- 1z 508e+U5 / 25
4274+ 0.0
-35.31+ 0.00

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,2,1)

AT rnuzurse+ud [ 25
po 4246+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

“nuzb/e+u4 [ 25
pO 4258+ 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,9

Tinuig71/e+U5/ 25
po 4284+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(C, bch) (3,2,13

T nuiz ruve+ud / 25
pO 4281% 0.0
p1 -35.7+ 0.0

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,2,2)

K™ 1 nui tooe+u4 / 25
-, po 4252+ 0.0
- pl -37.37 + 0.00

3000

TP delay [ns]

TVC(cbch) (32,6

T g0 r4e+04 [ 25
4256+ 0.0
-36.3+ 0.0

TP delay [ns]

TVC(cbch) (3, 2 10

1000

0

T 711e+U6 / 25
il po 4317+ 0.0
F pl -37.86 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,214

T Lo e+U5 / 25
pD 4269+ 0.0
pl -35.22+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (3,2,3

AT rnuz419e+u4 [ 25
poes, po 4252+ 0.0
pl -37.09+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

~ Uy, 53e+04 / 25
- pO 4258+ 0.0
pL -35.68+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 2

T 4/ze+u6/25
E. pO 4309+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(C, bch) (3,215

T nuizay/e+U5/ 25
pO 4283+ 0.0
p1 -35.16+ 0.00

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (3,3,0

A~ 1 nuiozre+u4 | 25
= po 4243+ 0.0
p1 -35.67 + 0.00

TP delay [ns]

TVC(cbch) (3,34

- 1 i Boye+ud / 25
4263+ 0.0
-34.2+ 0.0

[ C =29.24 [ps/ch] 7]

50 10'0
TP delay [ns]

TVC(cbch) (3 3,8

-1 i Ssve+ud | 25
- pD 4264+ 0.0
p1 -35.16+ 0.00

TP delay [ns]

TVC(cbch) (3,312

~ g, 1spe+U5 / 25
po 4280+ 0.0
pl -35.72+ 0.00
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
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1000

TVC(cbch) (3,31

A7 1 nuiL, rsbe+u4 / 25
- po 4252+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

-1 nu 2u8e+u4 [ 25
4277+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (3 3,9

T nu 333e+U5 / 25
pO 4266+ 0.0
p1 -34.57 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 3 13

T 1 nuiz.b4ye+U5 [ 25
pO 4283+ 0.0
p1 -35.84+ 0.00
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1000
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X~ 1 iz Qoze+u4 [ 25
-, po 4268+ 0.0
[ p1 -35.92+ 0.00
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TP delay [ns]

TVC(cbch) (3,36

- 11Uy 319e+04 / 25
- pO 4285+ 0.0
[ 355+ 0.0

TP delay [ns]

TVC(eb,oh)=(3, 3, 10

T nuiL432e+06 / 25
- po 4290+ 0.0
- pl -35.35+ 0.00

TP delay [ns]

TVC(Cbch) (3, 3 14

T L1ee+u5/25
5 pD 4267+ 0.0
L p1 -35.81+ 0.00
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1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 3,7

po 4298+ 0.0
p1 -34.51+ 0.00

-1 nui 1b4e+U5 / 25

[ C=28.98[ps/ch] %,
o+ o
TP delay [ns]

TVC(c,b ch) (3, 3

= pO 4289+ 0.0

g ; a55e+u6/25

36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 3 15

E po 4286+ 0.0
p1 -36.28 + 0.00

1 nuiz y1ve+Uus / 25

TP delay [ns]
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X~ 1L s10e+U4 / 25
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-36.65+ 0.00

TP delay [ns]

TVC(cbch) (3,4,4

1o8e+U4 | 25
4283+ 0.0
-36.03+ 0.00

- po, o,
pl
- C =
1 1 -
50 100
TP delay [ns]
TVC(cbch) (34.8)
=1 i Bebe+U5 / 25
= pO 4259+ 0.0
pL -34.26 + 0.00

TP delay [ns]

TVC(Cbch) (3, 4 12

po
p1

T, 1z0e+U5 / 25
4283+ 0.0
-36.29+ 0.00

L n n n n 1
50 100
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A7 1 nuiLysbe+u4 / 25
4246+ 0.0
-36.2+ 0.0

p1

1
100

TP delay [ns]

TVC(c,b ch) (3 4,5

F- pO

=1 nu bape+u4 [ 25
4288+ 0.0
-36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

e, po

pl

T nui 352e+U6 / 25
4271+ 0.0
-34.67 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (3, 4 13

T nuis.pB1e+U5 / 25
4272+ 0.0
-37.1+ 0.0

il
100

TP delay [ns]
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TVC(cbch) (3,4,2)

b po

X~ 1wz 151e+U4 [ 25
4241 0.0
p1 -35.75+ 0.00

TP delay

TVC(cbch) (34,6

[ns]

T e.2/e+04 /25
4296+ 0.0
pl -37.32+ 0.00

- o
F C = 26.80 [ps/ch .
4 N
TP delay [ns]

TVC(eb,oh)=(3, 4, 10

pO
pl

T z3ze+U6 / 25
4277+ 0.0
-35.51+ 0.00

TP delay

TVC(Cbch) (3, 4 14

[ns]

~1nug, ruze+U5 / 25
4270+ 0.0
-36.7 + 0.0
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A~ 1 nuiz, ryse+ud [ 25
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-36.8+ 0.0
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TVC(c,b ch) (3 4,7

pO
pl

=1 i Ygse+us / 25
4298+ 0.0
-35.86 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 4

EEALEVX uuze+u6/25
4282+ 0.0
-34.7+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (3, 4 15

T nu, 3 r8e+U5 [ 25
4272+ 0.0
-35.93+ 0.00
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4000

3000
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1000

4000
3000 [ ]
2000 - ]
1000 C ]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (3 5,8)
Cnay sze+u4 [ 25
4000 fae, pD 4292+ 0.0
p1 -34.92 + 0.00
3000 - ]
2000~ 7]
w00 C = 28.64 [pS/Ch] ]
1 1 -
b 50 100

4000

3000

2000

1000

TVC(cbch) (3,5,0

K™ nui roze+04 | 25
e po 4255+ 0.0
p1 -35.22+ 0.00

TP delay [ns]

TVC(cbch) (3,54

- i 784e+04 [ 25
== po 4268+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (3,5,12

S o g 41e+05 /25
== pO 4339+ 0.0
pl -36.18+ 0.00
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TVC(cbch) (3,51)

T Lsse+ud [ 25
- pO 4282+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

-1 nuz.04pe+u4 / 25
= 4256+ 0.0
-34.68 + 0.00

[ C =28.83 [ps/ch] 7]

50 150
TP delay [ns]

TVC(c,b ch) (3 59

T inur.o//e+U5 /25
pO 4314+ 0.0
p1 -35.18 + 0.00

I C =28.43 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 5 13

Tonanz./3e+u5 /25
- pO 4332+ 0.0
p1 -36.66 + 0.00

TP delay [ns]
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2000

1000
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2000

1000

AL 2:;e+u6/25

4000 e, pO 4322+ 0.0

[ pl -34.67 + 0.00
a000|- 7]
2000~ ]
ooor C = 28.84 [ps/ch] . 7

- -

[ -

1 1
b 50 100

4000

3000
2000

1000

TVC(cbch) (3,5,2)

TP delay [ns]

TVC(cbch) (3,56

X~ 1z Or1e+04 [ 25
- po 4286+ 0.0
[ p1 -35.86+ 0.00

3000

T 3.08e+04 /25
- pO 4259+ 0.0
- pl -34.36 + 0.00

- C =29.10 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(3, 5, 10

TP delay [ns]

TVC(Cbch) (3, 5 14

T 4.49e+U5/ 25
- pD 4331£ 0.0
L pl -36.67 + 0.00

TP delay [ns]
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1000
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1000

4000
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2000

1000

TVC(cbch) (3,5,3

A 1wz 3188404 ] 25
- po 4294+ 0.0
p1 -35.76+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

= 1 nui ove+us / 25
= po 4267+ 0.0
pl -34.28 + 0.00

[ C=29.17 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (3, 5

T baze+u6/25
po 4327+ 0.0
-34.78 + 0.00

[ C =28.75 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (3, 5 15

Tinun.43/e+U5/ 25
- pO 4342+ 0.0
p1 -36.74 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (3,6,0

X~ 1L bube+U4 / 25
= po 4227+ 0.0
-34.14 + 0.00

[ C =29.29 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (36,4

- UL g43e+u4 [ 25
=5 po 4296+ 0.0
pl -36.67 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 6,8

~rnuzbe1e+U5 / 25
po 4280+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(Cbch) (3, 6 12

~rnugusse+us / 25
po 4264+ 0.0
pl -34.96 + 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,6,1

AT 1 nuiL, ryse+u4 25
- po 4239+ 0.0
p1 -34.61+ 0.00

[ C =28.89 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,5

- 1nuzy3le+usd / 25
- pO 4312+ 0.0
p1 -37.47+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

TinaiL74/e+U6 / 25
pO 4296+ 0.0
pl -35.95+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

T nun.yy/e+us/ 25
pO 4279+ 0.0
p1 -35.76 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

A~ nun s4se+u4 | 25
-, po 4257+ 0.0
L pl -35.24 £ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

T rnuy 1/ /e+04 /25
4311+ 0.0
-36.8+ 0.0

TP delay [ns]

TVC(eb.oh)=(3, 6, 10

T a2, 112e+06 / 25
po 4286+ 0.0
p1 -35.04 + 0.00

TP delay [ns]

TVC(cbch) (3,6,14

1 nup,p3e+U5 / 25
pD 4291+ 0.0
pl -36.34+ 0.00
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50 100

TP delay [ns]
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1000
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1000

4000
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2000

1000

TVC(cbch) (3,6,3

A1 nuig, 731e+u4 [ 25
- po 4243+ 0.0
pL -34.58+ 0.00

[ C =28.91 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,7

1 nu 56 /e+U5 / 25
= po 4313+ 0.0
pl -37.74 % 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

T z/::e+u6/25
po 4303+ 0.0
p1 -36.45 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 6 15

T nuss2/e+U5/ 25
po 4282+ 0.0
p1 -35.43+ 0.00

TP delay [ns]
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0
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1000

TVC(cbch) (3,7,0)

po

X~ 1 yzoe+U4 [ 25
4249+ 0.0
p1 -35.16+ 0.00

TP delay

TVC(cbch) (3,7,

[ns]

T rnun Z.0be+u4 /25
4259+ 0.0
pl -35.44 + 0.00

- pO
- C =
- o
TP delay [ns]
TVC(cbch) (3 7,8

pD

1L bzye+Us / 25
4265+ 0.0
pl -36.94 + 0.00

TP delay

TVC(cbch) (3,7,12

pO

[ns]

~ 1y .4ze+05 / 25
4268+ 0.0
pl -34.54 + 0.00

TP delay

[ns]
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1000
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1000

TVC(cbch) (3,7,1)

PSRRI

e, po
pL

yze+ud | 25
4254+ 0.0
-35.02+ 0.00

TP delay [ns]

TVC(c,b ch) (3,7,5

X~ 2

19e+04 / 25
4247+ 0.0
-34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

pO
pl

T inaiLZ/8e+u6 / 25
4282+ 0.0
-36.32 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 7 13

T nugglae+U5 [ 25
4255+ 0.0
-34.87+ 0.00

TP delay [ns]
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1000
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1000

4000
3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (3,7,2)

= PO

X~ 1 iz 18be+u4 [ 25
4271 0.0
p1 -36.07 £ 0.00

TP delay

TVC(cbch) (3,7,6

[ns]

Sy 93/e+u4 [ 25
4264+ 0.0
pl -35.81+ 0.00

F= PO
[ C=27.92[ps/ch
5(') 10'0
TP delay

TVC(eb,oh)=(3, 7, 10

pO
pl

[ns]

T 2,09e+U6 / 25
4293+ 0.0
-36.48 + 0.00

1
100

TP delay

TVC(Cbch) (3, 7 14

T g o8 /e+U5 / 25
4254+ 0.0
pl -34.28+ 0.00

pD

[ns]

TP delay

[ns]
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A~ 1 nuiz509e+U4 [ 25
4269+ 0.0
-35.37+ 0.00

TVC(c,b ch) (3 7,7

C po
pl

1
100

TP delay [ns]

-1 nu Bgse+us / 25
4274+ 0.0
-35.53+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 7

pO

pl

- 4/ye+u6/25
4290+ 0.0
-36.64 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 7 15

71 num.vbze+U5 / 25
4261+ 0.0
-35.27 + 0.00

1
100

TP delay [ns]



TVC(cbch) (3,8,0)

4000 [

3000

2000

1000

K™ 1z zzie+04 /25
4275+ 0.0
p1 -37.29+ 0.00

TP delay

TVC(cbch) (38,4

4000 |

[ns]

- i BY4e+u4 / 25
4276+ 0.0
pl -35.32+ 0.00

pD

pO
3000~ ]
2000 - ]
1000~ C ]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (3 8,8)
-1 nuiL 3pge+us / 25
4000 [ 4304+ 0.0
p1 -38.14 + 0.00
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2000
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0

TP delay

TVC(Cbch) (3, 8 12

4000 [,
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1000
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T rnun.z91e+U5 / 25
4285+ 0.0
pl -36.02+ 0.00
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e, po

AT 1 nuiLBoe+u4 /25
4251+ 0.0
-35.46 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 8,5

“nu.z4/e+04 [ 25
4263+ 0.0
-35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

e, po

T nuiL432e+U6 / 25
4307 0.0
-37.31+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (3,8,13

X~ 1 nus,

154e+U5/ 25
4282+ 0.0
-35.94+ 0.00
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F= P°
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T nugo8e+u4 / 25
4270+ 0.0
pl -35.19 + 0.00

TP delay
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1000
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T nuiL by /e+U6 / 25
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p1 -37.67 + 0.00
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peess, pD
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- 11Uy 554e+05 / 25
4279+ 0.0
-36.21+ 0.00
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TVC(c,b ch) (3 8,7

e, pO

S nun313e+U5 /25
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TVC(e,b,ch)=(5, 15, 10

T nuiLuz/e+U6 / 25
- po 4298+ 0.0
- pl -35.48 + 0.00

TP delay [ns]

TVC(CbCh) (5, 15 14

T g sule+Us / 25
- pD 4319+ 0.0
L pl -35.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

[ C =28.36 [ps/ch]

A1 nuizgo1e+ud [ 25
po 4322+ 0.0
pL -35.26+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (5, 15 7

= 1 nuiLugYe+US / 25
= po 4286+ 0.0
p1 -35.96 + 0.00

TP delay [ns]

TVC(e.beh)=(5, 15, 11

T inaiz3ze+U6 / 25
- po 4307+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (5, 15 15

-1 nug. suze+U5 / 25
= pO 4303+ 0.0
p1 -35.29 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

A~ nui Szye+u4 | 25
E 4202+ 0.0
-33.93+ 0.00

[ C =29.47 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (60,4

- i, 738e+04 [ 25
== po 4222+ 0.0
-33.9+ 0.0

[ C =29.50 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 0,8

-1 Gzse+ud [ 25
e pD 4231 0.0
p1 -35.84+ 0.00

TP delay [ns]

TVC(cbch) (6,0,12

T rnuig.unse+ud / 25
= po 4262+ 0.0
pl -35.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,01

AT 1 nuiLgove+u4 / 25
k. po 4219+ 0.0
p1 -35.38 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 0,5

-1 U 3ype+u4 / 25
- pO 4235 0.0
pL -35.38+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

T nuiLzo3e+us / 25
= pO 4252+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, O 13

1 nuiz.pove+ud 25
- pO 4257+ 0.0
p1 -35.56 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

A~ 1 nui g40e+u4 / 25

TP delay [ns]

TVC(cbch) (60,6

-, po 4224+ 0.0
L pl -34.79+ 0.00

3000

© 1 nu.go4e+04 | 25
- pO 4252+ 0.0
- pl -35.65 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 0, 10

©1nuiz,uLse+us / 25
F- po 4266+ 0.0
- pl -35.69+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

- 1 nuzy3ae+ud [ 25
- pD 4252+ 0.0
[ pl -35.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A 1nuizz1re+ud [ 25
- po 4239+ 0.0
pL -35.44 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

S U $33e+04 /25
= po 4257+ 0.0
pl -34.67 + 0.00

[ C =28.84 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (6, O

AR b‘Jde+U5/25
= po 4270+ 0.0
p1 -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (6, O 15

- s ylze+ud [ 25
= pO 4269+ 0.0
p1 -35.82+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0

K™ 1nui rzse+04 | 25
o, po 4231% 0.0
p1 -36.78+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.1,4

- iU 3r9e+ud [ 25
= po 4229+ 0.0
pl -34.14 + 0.00

[ C =29.29 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 18

<y Gzve+ud [ 25
- pD 4249+ 0.0
-34.46 + 0.00

- C =29.02 [ps/ch]

1
50 00

TP delay [ns]

TVC(cbch) (61,12

T rnuizp41e+U5 / 25
4247+ 0.0
-35.51+ 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

AT 1 nuiz,1uze+u4 [ 25
- po 4251+ 0.0
p1 -37.29+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

_ -1 nu 13ge+ud / 25
peee. po 4215+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

T nuiL3/4e+U6 / 25
= 4272+ 0.0
-34.55 + 0.00

[ C =28.95 [ps/ch] 7

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, l 13

— T 1 nuiL ogbe+u5 / 25
= pO 4242+ 0.0
p1 -35.34+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,1,2)

X~ 1 iz Jove+ud [ 25
-, po 4268+ 0.0
[ p1 -37.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

T 1nug,b34e+04 / 25
- pO 4252+ 0.0
- pl -35.95+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

1 nuiL455e+U6 / 25
= po 4286+ 0.0
L pl -35.24 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

-1 $zse+u4 [ 25
e, pD 4245+ 0.0
L p1 -34.99 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3

A1 nuiz381e+u4 [ 25
- po 4251% 0.0
pL -37.28+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

- U Yrge+ud / 25
- pO 4242+ 0.0
p1 -34.64 + 0.00

[ C =28.87 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (6, l

T, /Uie+U6/25
= pO 4294+ 0.0
p1 -35.21+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

- -1 nuiz.ouse+U5 / 25
e po 4248+ 0.0
p1 -35.47 + 0.00

TP delay [ns]



TVC(cb Ch) ( 6x2-2245e+u4/25 TVC(ch Ch) (s, '2r\\u]v-4)44efu4/25 TVC(eb Ch) ( 6x211l-?4?305+u4/25 TvC(eb Ch) ( 6)‘2' ”“:‘i 2549“’4/25
4000 e, po 4256+ 0.0 4000 fm po 4264+ 0.0 4000 __- po 4262+ 0.0 4000 e po 4267+ 0.0
Pl -37.28+0.00 Pl -35.92+0.00 3 Pl -35.28+0.00 Pl -36.35+0.00

3000

B 3000 - 3000 - 3000 B

2000 b 2000 B 2000 — 2000

1000 1000 . 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (62,4 TVC(cbch) (62, TVC(cbch) (62,6 TVC(c, bch) (6.2,

T, :?\_ueﬂjd 125 T, 2bSE+U4/25 LA &l)lle+U4 125 T J)SZEH)A/Z5
4000 pO 4269+ 0.0 4000 [, pO 42741 0.0 4000 [, pO 4289+ 0.0 4000 s pO 4302+ 0.0
pl 3579000 Pl -36.07%0.00 [ PL_ 3566+ 0.00 Pl -36.08+ 0.00
3000 - 3000 - 3000} ] 3000 [ -
2000~ - 2000 E 2000 ] 2000 - -
0| . 1000 . w0r C = 28.04 [ps/ch] . w0 C = 27.72 [ps/ch ]
1 1 - 1 1 - 1 -
EY 00 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(6,2,8) TVC(e.e=(6,2,9) TVC(eb.ch=(6, 2, 10) TVC(ehe)=(6, 2, 11)
T nug314e+u4 / 25 -1 buzZe+us / 25 ~1nuy by /e+u5 /25 - 1 yube+u6 / 25
4000 e, pO 4273+ 0.0 4000 fae, pO 4314+ 0.0 4000 fome, DO 4307+ 0.0 4000 fs p0 4320+ 0.0
3491+ 0.00 Pl -36.83:0.00 L PL_ -35.62% 0.00 Pl -36.51% 0.00

- 3000

3000 |- T 3000 - 3000 -1

2000

2000 [~ 2000 - 2000

1000 ] 1000

oo C = 28.64 [ps/ch]

1000

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(621 ) TVC(cbch)(6213) TVC(Cbch)(621 ) TVC(cbch)(6215)
- 1 nuizguoe+U5 / 25 Tinun 1 oEe+us /25 -1 nuiL49ve+U5 / 25 T inuiza13e+U5/ 25
4000 pO 4259+ 0.0 4000 pO 4289+ 0.0 4000 PD 4274+ 0.0 4000 o, pO 4293+ 0.0
pl -34.73+ 0.00 pl -36.42+ 0.00 F pl -35.19 + 0.00 pl -35.6 + 0.0

-1 3000

3000~ T 3000 - 3000 .

2000 - 2000 2000 - 2000

1000 1000 4 1000

1000~ C = 28.79 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0)

po

pl

X~ 1w bsbe+U4 / 25
4252+ 0.0
-36.58 + 0.00

TP delay [ns]

TVC(cbch) (63,4

- 1 nuz,0uye+ud / 25
4286+ 0.0
-37.35+ 0.00

- pO
p1
FC N
1 L -'
50 100
TP delay [ns]
TVC(cbch) (6 3,8)
© 1 nu p4ye+ud [ 25
- po 4290+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (6,312

po
p1

Tz e+U5 /25
4285+ 0.0
-35.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,1)

e, po

A7 1 nuiLbybe+u4 / 25
4258+ 0.0
-36.81+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (6 3,5

- pO

-1 nui y1be+u4d / 25
4288+ 0.0
-36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,9

pO
pl

T nun.yg/e+us / 25

4299+ 0.0
-35.25+ 0.00

[ C =28.37 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (6, 3 13

~ 1 nuizyyze+ud | 25
4276+ 0.0
-34.96 + 0.00

[ C =28.60 [ps/ch]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,3,2)

= PO

X~ 1 nuiz.0ure+ud [ 25
4270+ 0.0
-36.63+ 0.00

pl

TP delay [ns]

TVC(cbch) (63,6

- b

pl

T rnuz,ugle+u4 | 25
4292+ 0.0
-36.05 + 0.00

TP delay [ns]

TVC(eb,oh)=(6, 3, 10

~ o

1 nuiLb48e+U6 / 25
4322+ 0.0
-35.61+ 0.00

pl

TP delay [ns]

TVC(c,b Ch) (6, 3 14

TS

= 0

- yze+u5 /25
4275+ 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3)

e po

A1 nuiLG/ re+ud [ 25
4271£ 0.0
-35.71+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (6 3,7

- pO

-1 nuy Zobe+u4 [ 25
4299+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(c,b ch) (6, 3

= pO

pl

T bzbe+l}6/25
4300+ 0.0
-35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 3 15

T nuiz s3se+us [ 25
4291+ 0.0
-36.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0)

X~ 1L sure+U4 /25
po 4253+ 0.0
p1 -35.89 + 0.00

TP delay [ns]

TVC(cbch) (64,4

- i 39se+ud [ 25
po 4239+ 0.0
pl -33.99+ 0.00

[C=29.42[ps/ich] s, ]
- o
TP delay [ns]
TVC(cbch) (6 4,8

-1, [Use+U4 [ 25
pD 4244+ 0.0
p1 -35.44+ 0.00

TP delay [ns]

TVC(cbch) (64,12

[ C=29.91[ps/ch] ™ 7]

1 nuiL49se+U5 / 25
pO 4270+ 0.0
pl -33.43+ 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT 1nuiLyLse+u4 /25
=3 po 4231 0.0
p1 -35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

-1 nui B43e+u4 / 25
e pO 4238+ 0.0
p1 -34.74+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

T nuiLb12e+U5 / 25
= pO 4261+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 4 13

T nui149e+U5/ 25
- pO 4271+ 0.0
pl -34.53+ 0.00

[ C =28.96 [ps/ch]

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

X~ 1z zoze+u4 | 25
- po 4246+ 0.0
L pl -36.02+ 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

T rnuzzz1e+04 [ 25
e pO 4243+ 0.0
[ pl -35.21+ 0.00

TP delay [ns]

TVC(eb,oh)=(6, 4, 10

T b.8/e+U5/25
__ 4286+ 0.0
L -34.61+ 0.00

TP delay [ns]

TVC(cbch) (64,14

1 nup pB3e+U4 [ 25
- pD 4278+ 0.0
[ pl -33.59+ 0.00

- C =20.77 [psich] ™., 1

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

A~ 1 nuiz 2use+ud [ 25
Fome po 4260+ 0.0
pL -35.6 + 0.0

TP delay [ns]

TVC(c,b ch) (6 4,7

-1 nui 2aze+ud | 25
= po 4253+ 0.0
pl -34.76 + 0.00

[ C =28.77 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (6, 4

ARV 5b5e+u5/25
4268+ 0.0
-33.63+ 0.00

[ C=29.74 [ps/ich] % 1

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 4 15

Tnuis11e+us/ 25
=3 4275+ 0.0
-34.42+ 0.00

[ C=29.05[ps/ch] ]

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

A~ 1 nui o4se+04 25
e po 4258+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(cbch) (65,4

[ C =29.36 [ps/ch]

- 1w 031e+04 [ 25
== po 4250+ 0.0
pl -34.06 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 5,8

- bsverud [ 25
= pD 4271 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(cbch) (6,5,12

1z z4e+U5 / 25
= po 4276+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5.1)

-1 Lyae+ud | 25
e, pO 4269+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

- 11U 4p1e+04 / 25
4247+ 0.0
-33.9+ 0.0

[ C =29.50 [ps/ch] 7]

50 150
TP delay [ns]

TVC(c,b ch) (6 59

<1 nuizb4ye+U5 [ 25
e pO 4264+ 0.0
p1 -35.07 £ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

T nug.n43e+U5 [ 25
- pO 4299+ 0.0
p1 -35.89+ 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

TVC(cbch) (6,5,2)

1000

X~ 1 iz 01ve+u4 [ 25
P, po 4282+ 0.0
[ p1 -36.37+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,56

FC = 29.39 [ps/ch] ™, 1

- 1nug.yrye+ud | 25
fo, pO 4262+ 0.0
[ p1 -34.03+ 0.00

3000

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 5, 10

~ 1 nuig.y1ve+Us / 25
4286+ 0.0
-35.4 + 0.0

TP delay [ns]

TVC(cbch) (6,5,14

T 1sse+Us / 25
F-. pD 4272+ 0.0
L pl -34.97 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

A~ nuiLBr3e+ud [ 25
- po 4265+ 0.0
pL -34.75+ 0.00

[ C =28.78 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 57

1 nuws, fove+ud | 25
= po 4263+ 0.0
pl -34.92+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

RIS zs/e+u6/25
= pO 4289+ 0.0
p1 -35.24+ 0,00

TP delay [ns]

TVC(c,b ch) (6, 5 15

T nui s3e+U5 / 25
e po 4286+ 0.0
p1 -35.87 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

X~ 1 suse+U4 [ 25
po 4253+ 0.0
-35.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6.6,4

- 1wz Qole+ud [ 25
po 4236+ 0.0
pl -34.89 + 0.00

[ C =28.66 [ps/ch] ]
o+ o
TP delay [ns]

TVC(cbch) (6 6,8

- s Gsae+ud | 25
pD 4271 0.0
p1 -35.48+ 0.00

TP delay [ns]

TVC(Cbch) (6, 6 12

T 1 gse+us /25
po 4285+ 0.0
pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1

A i 7o revud | 25
e, po 4263+ 0.0
pL -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

C1nu.Z4e+04 [ 25
e, pO 4263+ 0.0
pL -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,9

~ 1 nug.zyse+us / 25
4296+ 0.0
-34.68 + 0.00

[ C =28.84 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 6 13

Tinuigize+U5/ 25
= pO 4278+ 0.0
p1 -35.46 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (6.6,2)

T Lsae+ud /25
F-. pO 4258+ 0.0
[ p1 -35.35 + 0.00

3000

TP delay [ns]

TVC(cbch) (66,6

- rnuz 198e+u4 [ 25
e pO 4250+ 0.0
[ pl -35.34 0.00

TP delay [ns]

TVC(eb,ch)=(6, 6, 10

~ 1 nuip. 26 (e+U5 / 25
- po 4306+ 0.0
- pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (6,614

~ 1L b3ve+Us / 25
4275+ 0.0
-35.3+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3
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